T3 179 AABC 9] Ho]&?

D 7V2cm? @ 14V2cm? ® 21V2cm?
@ 282 cm? ® 56 V2 cm?



180° - /B

ojlmg

O X sin(180° — /B)

h

O

AABC °l|lA LABH
sin(180° — /B)

h

1

1

(180° — /B)

—aQdsin
2

—ah =
2

.. AABC =

® h

c






@ 30v2 @ 30Vv3 @ 32v2  ® 323

D 30



1= =
= 70 o
o}}; e A
. Z]'-;
3 AB
CD
_q] 1=
o]
A

3
3
@ \/g
\/_
3
\/_
3






sttt /BCD = 60°, AD = 12cm,
AB = 8cm ¥ W], AAPD 9] Yol&
otoizt,

O 12v3 @ 14v3 ©® 16v3 @ 18vV3 ® 20V3



ohe 3t o] dizhale] deolzh AC —
6cm , BD = 8cm ¢l A2 ABCD ¢
Kol

D 10V3cm? @ 12v3cm? ® 15V3cm?
@ 183 cm? ® 2043 cm?



ohg T3 2 SHATE ABCD

ol A Tz} o] o] F= Zto] 120° 0]
o7k 8V3em? & wf, AC 9] Zo]&?
120°
B C
@ 4cem @ 4v2cm ® 4v3cm

@ 4v6cm ® 8cm



A7k ABCD ©] Wo] wreeste] Ao 227t

@ 114 @ 115 @ 117 ® 119

® 113



11. o 2”3} 22 AABC 9] Hol7F 7v3em? & o, £A o] 3717
(F, 0° < A <90°)

® 30° @ 45° ® 50° @ 60° ® 65°



12. & 94 AABC 9] Ho]:?

T sin | cos | tan

22°10.37(0.93(0.40

50° 10.77]0.64|1,20

@® 150 cm? @ 160 cm? ® 180 cm?

@ 240 cm? ® 360cm?



13. ©hg 123} 2ol 5 tjztale] Aolv} 242
7cm, 8 cm Q1 AHZEE 9] Yol o] | Hgre?
D 14v2cm? @ 28cm?
® 14V3cm? @ 283 cm?
® 56 cm?




14.

N
2
=
>
>
o8
Q
=
=)
ol

thg 2 o
o] ¥ BC 9] 4734 fle] 2BC 1 °]
HES H A S HT7

B1, C1 € o] aA1B;C; = Tt .
AABC 9] Hol7} 4 & 1, AA;B,C, 9

Holt?

B,



15.

_r;:x;r_,

M O mo AN o

AD = a, AB = b(a > b) %
FARG o)A o]k T
©] 27]9) Wl 2 1 o]t}

TH I Zol Y| Z+e] o] &
RE= AFZEY PQRS 9 H

O

@® ?(a—b)2 ®) ?
. V3
@ T(b—a) @ T




